Lesson 3/02/21

S Multiplication

;?&:%ﬂabo Year 1 — Equal Groups Pictorial Questions

There are 20 sweets. Miss Keenor shares them into 4 equal groups.
What would the multiplication be?

Can you show the groups?

There are 30 sweets. Miss Keenor shares them into 3 equal groups.
What would the multiplication be?

Can you show the groups?

There are 40 sweets. Miss Keenor shares them into 4 equal groups.
What would the multiplication be?

Can you show the groups?

There are 6 sweets. Miss Keenor shares them into 3 equal groups.
What would the multiplication be?

Can you show the groups?

There are 10 sweets. Miss Keenor shares them into 5 equal groups.
What would the multiplication be?

Can you show the groups?
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There are 50 sweets. Miss Keenor shares them into 10 equal groups.
What would the multiplication be?

Can you show the groups?

There are 40 sweets. Miss Keenor shares them into 8 equal groups.
What would the multiplication be?

Can you show the groups?

There are 12 sweets. Miss Keenor shares them into 6 equal groups.
What would the multiplication be?

Can you show the groups?

There are 35 sweets. Miss Keenor shares them into 7 equal groups.
What would the multiplication be?

Can you show the groups?

There are 10 sweets. Miss Keenor shares them into 2 equal groups.
What would the multiplication be?

Can you show the groups?
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There are 80 sweets. Miss Keenor shares them into 8 equal groups.
What would the multiplication be?

Can you show the groups?

There are 16 sweets. Miss Keenor shares them into 8 equal groups.
What would the multiplication be?

Can you show the groups?

There are 90 sweets. Miss Keenor shares them into 9 equal groups.
What would the multiplication be?

Can you show the groups?

Optional Challenge/Extension: write your own question.



